Contemporary Human Geography - 864 Total Questions - Biology-Forums.com

Question 1

Even though Japan is currently rethinking their nuclear energy policy, why did they choose to build all the nuclear power plants in the first place?
A) Japan has significant industrial energy needs and very little fossil fuel reserves.

B) Japan can use seawater to cool their nuclear power plants.

C) Air pollution concerns prompted Japan do build many nuclear power plants.

D) Japan exports most of their refined fossil fuels so there isn't enough for domestic use.

E) Japan is trying to help reduce global warming by following an energy policy that requires a large percentage of energy from nuclear sources.
Answer: https://biology-forums.com/index.php?topic=419663

Question 2

What is the rationale for the IMF and World Bank to provide loans to developing countries?

A) They will receive higher interest rates in return because of the higher risk.

B) They will enable new infrastructure that will lead more domestic and foreign businesses to open and expand.
C) for purely humanitarian reasons

D) They are chartered to loan to high risk countries, knowing that many of the financed projects will fail.

E) The huge growth potential will insure high returns.

Answer: https://biology-forums.com/index.php?topic=419558

Question 3

The agricultural calendar is relatively unimportant to which type of religions?
A) animist

B) ethnic

C) pagan

D) universalizing

E) All of the above

Answer: https://biology-forums.com/index.php?topic=419475

Question 4

Which of the following regions has life expectancy that is comparable to developed regions?
A) Latin America

B) Sub-Saharan Africa

C) South Asia

D) Southeast Asia

E) Southwest Asia

Answer: https://biology-forums.com/index.php?topic=419465

Question 5

A repetitive act of a group, performed to the extent that it becomes characteristic of the group is known as
A) habit.

B) popular culture.

C) folk culture.

D) custom.

E) daily necessity.

Answer: https://biology-forums.com/index.php?topic=419542

Question 6

Which of the following best explains the Griffin-Ford Model?

A) Cities in developing countries contained a complex mix of ethnic groups show evidence that rich and poor tend to congregate to separate areas.

B) Mexican cities grew so rapidly during the 20th century that the needed infrastructure for the wealthy could only be developed if the elite class all
congregated to one area.

C) Global cities tend to form concentric rings of businesses, services, and offices where the wealthy tend to relocate

D) In Latin American cities, wealthy people push out from the center in a well-defined elite residential sector and form along a strip of infrastructure that
is important to the wealthy.

E) Global cities tend to have predictable distribution of the wealthy.

Answer: https://biology-forums.com/index.php?topic=419623

Question 7

Gambia is an example of a(n) state.
A) elongated
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B) fragmented

C) landlocked

D) compact

E) prorupted

Answer: https://biology-forums.com/index.php?topic=419278

Question 8

Which of the following is not a strong centripetal force in the United States?
A) network television

B) the flag

C) the many ethnic groups living in the United States

D) "The Star Spangled Banner"

E) baseball

Answer: https://biology-forums.com/index.php?topic=419009

Question 9

The amount of energy in fields not yet identified but thought to exist is a
A) nonrenewable energy.

B) potential reserve.

C) proven reserve.

D) resource.

E) future commodity.

Answer: https://biology-forums.com/index.php?topic=419654

Question 10

The Pew Hispanic Center estimated in 2010 that there were about undocumented immigrants living in the United States.
A) 6 million

B) 8 million

C) 11 million

D) 15 million

E) 22 million

Answer: https://biology-forums.com/index.php?topic=419454

Question 11

Denmark is currently in Stage 4. This means that they have

A) 0 or negative NIR, very low CBR, and low, slightly increasing CDR.
B) very low CBR, very high CDR, and moderate NIR.

C) constant CBR, CDR, and NIR.

D) moderate NIR but high CBR.

E) few elderly people, increasing CBR for young people only.
Answer: https://biology-forums.com/index.php?topic=419185

Question 12

An ethnic religion is

A) based on only one language.

B) appealing mostly to one group of people in one place.

C) based on belief in one particular spiritual leader.

D) younger than a universalizing religion.

Answer: https://biology-forums.com/index.php?topic=419271

Question 13

Which of the following is an accurate description of the labor force participation rate?
A) the percentage of the population unemployed and underemployed

B) the percentage of college graduates employed in the field of their degree

C) the percentage of employed in any given year

D) the percent of women holding full-time jobs outside the home

E) the likelihood of a high school graduate getting a job within 2 years of graduation
Answer: https://biology-forums.com/index.php?topic=419501

Question 14
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One approach to decreasing birth rates is to increase the education of
A) children.

B) contraceptives.

C) women.

D) men.

E) college graduates.

Answer: https://biology-forums.com/index.php?topic=419295

Question 15

The United Nations sustainable development concept links all but which of the following?
A) environmental protection

B) maximum yield on investment

C) economic growth

D) social equity

E) limiting use of renewable resources to rates that do not reduce future supply

Answer: https://biology-forums.com/index.php?topic=419701

Question 16

The number of people who are too young or too old to work in a society compared to the number of working age people is the
A) dependency ratio.

B) life expectancy.

C) population pyramid.

D) sex ratio.

E) demographic ratio.

Answer: https://biology-forums.com/index.php?topic=419268

Question 17

In Tajikistan, nearly one-half of the gross domestic product depends on , primarily from
A) exportation, raw materials

B) remittances, emmigrants living in Russia

C) remittances, other governments

D) exportation, manufacturing

E) international aid, the UN

Answer: https://biology-forums.com/index.php?topic=419428

Question 18

Opposition to immigration in the United States coincided with
A) the majority of immigrants no longer arriving from Europe.
B) increased tensions over the Vietham war.

C) decreased legal migration.

D) the economic boom of the 1990s.

E) large numbers of refugees moving into the country.
Answer: https://biology-forums.com/index.php?topic=419469

Question 19

Acts of terrorism can be difficult to differentiate from acts of war because
A) both use bombs.

B) both may target civilians and appear unjustified.

C) neither is provoked.

D) both target only governments.

E) all use well-organized groups.

Answer: https://biology-forums.com/index.php?topic=419378

Question 20

Which branch of Islam is the largest in Iran?
Answer: https://biology-forums.com/index.php?topic=419559
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